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Which of the following diseases is caused
by Salmonella bacteria ?
(A) Cholera

(B) Japanese encephalitis
(C) Typhoid

(D) Hepatitis

The festival of lights is

(A) Ganesh Chaturthi

(B) Diwali

(C) Dussehra

(D) Baisakhi

The equations X + 3y=5and2x—by =10
represent the same line, ifb =

(A)G
B -
© -
)

(D None of these

Which of the following cells have
haemoglobin in it ?

(A) White Blood Cells

(B) Red Blood Cells

(C) Platelets
(D) None of the above

Fishes have number of chambers

in their heart.
(A) Many (B) 4
C) 2 (D) 3

The crops which are sown at the
commencement of rains in June and
harvested by November month,are
called as

A) Baisakhi

) Biti

) Kharif
) Summer

(
(
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. Consi
7 referecrj\ga t{w g statements wih
0 the evolution of politica) part

system in India .
option. and choose the INCorrect

(A) l'l;lgjet (f)ot%réhbuni_on general election
it
coalition. ginning of the politicg of

During 1960s, the emer
new political classes
related to the rise of th

e followin

(B)

gence of the
was direct|

. € propriet
peasant class in rural Indiapin :}%

backdrop of the land reforms.
The politics of alliance has leq to the
polarisation of parties.

Atpresent coalition or alliance form of
parties have narrowed the process
of elections and competitive politica|
space.

(©)
(D)

8. Find the word w_hich is different from the
other 3 options given below.

(A) Tiger (B) Lion
(C) Cat (D) Zebra

9. Age of a father is 3 times that of his son,
5 years later, he will be two and half times as
old as his son. How old is his son: now ?

(A) 15 years (B) 10years
(C) 12%2years (D) None of these

Badkhal lake is located in

10.
(A) Faridabad (B) Thane_shwar |
(C) Karnal (D) Hathni

11. Hiuen Tsangis a traveller. '-
(A) English (B) ‘Roman
(C) Chinese (D) Portuguese

12. If4is a zero of polynomial -
p(x) = —2x% + 3x + 5k then value of k is
(A) 4 (B) -5
©) ¥ (D) -1

13. _

is essential for th
synthesis of thyroxin. '

(A) Potassium (B) Sodium
(C) Calcium (D) lodine

7. g i geafes e el % Iwa 3 e |
Prsfrfiaa @t T e s o) Terd

fegen Afm . .
(Ay <N Fef o7 e ht At e

(B)
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14. Sahibi river is also cqlled as o dwatl

(A) Drishadwati  (B) K sadi
(C) Cauveri (D) Jage
) for
15. In computers ‘CMOS stands ating

(A) Computer monitoring 0P€
system Ide

(B) C):)mplementa Metal O
Semiconductor . oper ating

(C) Complementary Me
Semiconductor .15 0

(D) Commonly mainta
System

i llowing move
16. Whichofthefo cotest ?

as Leaderless Movement/P

(A) Simon Go Back Protest
(B) Individual gathyagraha
(C) Quit india Movement
(D) Swadeshi Movement

17. i 3tanA =4, then value of

secA—cosecA

sec A+ COS€ECA
, V2
(A) = B 7
1 \/5
©) L (D) NG
7 7
18. If 14x2 + 13x— 15is divided by 7x — 4, then
remainder is ‘
(A) 3 (B) -3
(C) o (D) None of these
19. 7 Sepoy mutiny took place in
(A)' 1947 (B) 1957
(C) 1837 (D) 1857

20. Five resistors 2Q, 3Q, 4Q, 5Q and 6Q are

connected in series to 6V battery. The
current through 5Q resistor js

(A) 3.33A (B) 0.3A
C) 1.2A (D) 120 A

14

15.

16.

17.

18.

19.

20.
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(B) Hireefitiedt et st dnfvives
(C) Hiefifed et Afetfan fnfrirmp
(D) el Hfm srifen ey

frefafas 4 @ ®#F-w1 Aen Jaas
e /R o 7 T
(A) TEHA T e g

(B) Safchish GeaTg

(C) WITd DS STRIeH

(D) wael HAGreH

seCA -cosecA

R tanA =43, T sec A + CosecA

T HAH B

: V2
(A) 7 B) 7

J3

1 v9
(C) 7_7- | (D) N;
Ife 14x2;13x—15ﬁ7x-4ﬁmm
ST e, AT
(A) 3 |8) -3
(€) 0 (D) T AFRT
R e # gl
(A) 1947 (B) 1957
(C) 1837 (D) 1857

T 20, 3Q, 4Q, 5Q aft6Q 1 6V
i gfeige e

2} 2 Ty @ A ST T &1 50

¥ fgd wTa 8
(A) 3.33A ~ (B) 0.3A
(C) 1.2A (D) 120A
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21. 119" of September was Sunday,

18" September fall ? when does
(A) Monday (B) Sunday
(C) Tuesday (D) Wednesday
22. : is the head of Gram
Panchayath.
(A) Chief Minister
(B) Commissioner
(C) Sarpanch
(D) Labour Officer
23. Haryana sends ___members to
Rajya Sabha, the upper house of the
Parliament.
(A) 2 (B) 3
(C) 4 D) 5
24. If the perimeter of a semicircular
protractor is 108 cm, then the diameter of
the protractor is
(A) 54cm (B) 42cm
(C) 24cm (D) 108cm
05. Read the following events which

occurred during the course of
Anglo- Mysore War. ,

1. Tipu Sultan stopped the export o
sandalwood and pepper with British
from the Malabar coast.

He maintained relationship with French
and tried to get Napoleon's support.

During the battle in 1799, Tipu’s capital
was Mysore.

After the war the kingdom was divided
into two parts, i.e., one under British
another one Mysore Kingdom.

- Which of the above are incorrect ?
(A) 1,2and 4
(B) 1,2and 3
(C) 3and4 only
(D) 1,3and 4

N a/2018 (1) (MA1)
If o Rt A Taan @, 1 18 i =t =0

RS
| ?
(A) HEER (B) TerEm
i (D) Fuaw

(C) HTER
TR YT 3 e B

21,

20,
(A) g@"ﬁﬁ
(B) \
(C) T
(D) ooy arfereRTd)

e F) TEE % 39
HeA, TAEHT 3T 2
(A) 2
© 4

23.

B) 3
D) 5 @
aﬁ@aﬁqmwaﬁﬁqﬁﬁamsﬁﬂ.%,
T =fS 1 = B ‘
(A) 54 |
(C) 24 W.H.

s -BreT 7% 3 4 g FeTaRaa weg

afeu|

1, Iq Feam { ween e e =
1o = A el % it = T
fem

0. TEIHARAIHT T T A AT
X TR ST SRt S S R |

3. 1799 ¥ I& % IR AY H TSR
e o) |

4, T QTS N A A e T AT
o 5 s g BT

Iaq ¥ PH-T1 T T @ ?

(A) 1,234

B) 1,233

(C) et 3 3 4

(D) 1,334

24.

(B) 42 QAL
(D) 108 H.HI.

25.
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26.

27. Who was appointed as a temporary

29. If the distance between the points A(1,1)

30. A man when asked, how many hens and

31.

AR ALY |

Purs \
. :‘ant 1o Constitutional 737 Amendment
» Maryana Panchayat Raj Act was fi
a
passed in ’ | o
(A) 1947 (B) 1957

President of Constitution Assembly of India
soon after independence ?

(A) Rajgopalachari

(B) Dr. Sachchidananda Sinha
(C) V.T. Krishnamachari

(D) None of the above

28. Find the number which is not like the other
3 options.
(A) 50-66 (B) 63 - 77
(C) 22-38 (D) 64-80

and B(x, 1) is 5 units, then values of x are
(A) 4,0 (B) —4,6

buffaloes he has, told that his animals have
120 eyes and 180 legs. How many hens he

has ?

(A) /15 (B) 60
(}Z) 30 (D) None of these

The solution of system of equations
x+y=a—-bandax—-by=a2+b2are
(A) x=a,y= b

(B) x=a,¥y=" b

© x=-ay=P

(D) x="%&

y=——b

26.

27.

28.

29.

30.

31.

R O OO O R

73 4 dfaam g sfufem & sy

¢ gfemon g TS S Teeh an |
F qrfea foram R |

(A) 1947 (B) 1957

J

(C) 1992 (D) 1994

gt ot el arered Frged feman T ?

(A) 4,0 (B) —4,6
(C) 2,3 @) 1,-9
@ﬁ%ﬁ@ﬂ%aﬂ%mﬁw

3 7 gffat 2, @ e e T 38
£t 120 3TtE 3R 180 W | 3Tk T fohd

gfifai e ? |

(A) 15 (B) 60

(C) 30 (D) T IS T
x+y=a—b3ﬂ'{ax—by=a2+bz
eI JUTTRAS o & §

(A) x=a,y=Db

(B) x=a,y=-b

w)x=—&y=b

m)x=—&y=—b
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32. Haryana government launched

33.

34.

35.

36.

scheme for senior citizens

belonging to Below P i
farillics. overty Line (BPL)

(A) Bhagya Jyothi
(B) Anna Bhagya
(C) Beti Padhao
(D) Tirtha Darshana

The section of Himalayas, specially attracted
to the British colonial administration, and
subsequently, some of the important hill
stations such as Dharamshala, Mussoorie,
Shimla, Kausani and the cantonment
towns and health resorts such as Shimla,
Mussoorie, Kasauli, Almora,Lansdowne
and Ranikhet, etc. were developed in this
region.

Here The region referred is

(A) Trans Himalaya

(B) Lesser Himalaya

(C) Shiwalik range

(D) Greater Himalaya

Haryana is the first state to'complete
(A) Aquifer mapping

(B) Police Station

(C) Bharat Rathna

(D) Padmashree Award

A number consists of two digits and
whose sum is 3, if 9 is added to the
number, the digits get interchanged.
Then the number is

33.

35.

(A) 12 (B) 21

(C) 30 (D) None of these
is an amphoteric oxide.

(A) ALO,

(B) CuO

(C) FeO,

(D) CrO,

32, ® .
pafrs e R T Asmawd

36.
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38.

39.

40.

41.

following statements regarding

ert. '
wled over nine countries.

i S ra '
Haer ore than two times

area is
" ll;Srger than whole India.

.Select the right answer from given below :

A () only

(i) only
) Both () and (ii) are right
(D) Non€ of the above

Bhagava
Chapter 0
A) Sixteenth

(C) Eighteenth

d Geeta is in the

f Mahabharata.
(B) Seventeeth

(D) Nineteenth

supreme Court of India in its recent
historical judgement on Aadhaar Card
Vs Privacy threat, it has been held that
linking Aadhaar Card mandatory, except
1. School admissions
2. For PAHAL Yojana
3. NEET, JEE, UGC and CBSE exams
4. Corporate authentication
Select the right answer from given below :

(A) 1and3only (B) 3only
(C) 1,2and3 (D) 1,3and4

The Legislative Assembly of-Haryana

passed the Haryana Municipal
(Amendment) Bill on

(A) 7" August 2014

(B) 28" February 2017
(C) 19" December 2015
(D) 31% March 2016

Select the correct pair from the following :

1. Salal hydroelectric — Jammu and
project Kashmir

Parambikulam — Tamil Nadu
reservoir

1 only

2 only

Both 1 and 2

None of the above

n

37.

38.

39.

40.

41l
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(A) Faet 133 (B) +ad 3

(C) 1,233 (D) 1,33R4
W%%ﬁxﬁwﬁmwmé
() fre_ AwiafRl

(A) 73T 2014
(B) 28 W&t 2017
(

C) 19 fe&sr 2015

(D) 817 2016
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42. Rewari, Mahendragarh and Gurgaon are

43

44.

45.

46.

47.

48.

© 7

rich in

(A) Tin
(B)
(©)
(D)

Dolomite
Slate

Feldspar

Baking powder is a mixture of baking soda
and a mild edible acid such as

(A) Acetic acid

(B) Benzoic acid
(C) Hydrochloric acid
(D) Tartaric acid
There are
Haryana.

(A) 7

(C) 5

lakes in the state of

(B) 6
D) 4

Find the missing letters (?) from the options
given below.

AYC, DVF, GSI, JPL, ?
(A) MOM (B) NMO
(C) NNO (D) MMO

Global Investors’ Summit took place on
(A) 26" January 2011

(B) 12" December 2014

(C) 8" March 2016

(D) 10™ April 2017

Which of the following form an AP ?
A) 1,1,2,2,33, ..
(8) 0.3,0.33, 0.333, ...
L

28
) 4,/16,/36, ..

Fmd the missing number (?) inthe
following sequence.

. ?,37
Sy i (B) 29
o2 O

43,

44.

45.

- 46.

a7.

48.

4/2018 (1) {11 1)

© 5 o4,

e el 8 3 g i (7) TR
AYC, DVF, GSI, JPL, ?

(A) MOM (B) NMO

(C) NNO (D) MMO

ﬁwﬁ&wﬁr@wﬁm
sl
(A) 26 Sa{l 2011
) 12feEsT 2014
o) 8 W 2016

10 3T 2017

ﬁm%%aﬁ%ﬂﬂ-m@mﬁvﬁ
aw% ?

(A) 1,1,2,2,8,3, ..

(B) o1 0.33, 0.333, .

© g

(D) 1,\/@,\/%
ﬁ@an@n(?)mc

(A) 20 -

© 25 o) %
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49. A ladd

50.

51.

52.

53.

54.

55.

reaches @ Window of
er 17 m 1ong ihe ground. What is

abo
1bu(;|2;:%;;(’)n 5 fool of the ladder from
the ai

the wall ?
(A) 8cm

(C) 2¢m

Manganese is foundinthe —
f Haryana.

district of Hary (B) Mahendragarh

(A) Hissar
() Kamal (D) Gurgaon

(B) 6cem
(D) Acm

Which of the following is not an example

for macro-economic constituents ?

(A) Making of Budget i

(B) Regulation of Monetary Policy

(C) Policy for bringing change in
Balance of Payment (BOP)

(D) None of the above

The first manifesto of Urdu poetry was
written by :
(A) Altaf Haali Hussain (B) Amir Khusro
(C) Umrao Jan (D) Allabaksh

If‘EYE’ can be coded as 35, then ‘OFF’ can
be coded as

(A) 80 (B) 11
C) 27 (D) 36
Banabhatta wrote

(A) Sur Sagar
(B) Bhagavad Geeta
(C) Geetha Ramayan

(D) Harshacharita

If '+ means %', % means ‘+','~ means ‘+'

.and‘“ means ' ,then 16 x 2 +4 +7 -8 =

(A) 31 | 2
2
(C) > (D) None of these

-10-

49,

50.

51.

52.

53.

54.

55.
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(A) FLHTR
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57.

58.

59.

60.

61.

62.

(R

6. Which ofthe following rivers is n

. ot .
bank tributary of Ganga river 7 a right

(A) Chambal (B) Son
(C) Sindhu (D) Kosi

Which of the following rightly stands for g

word ‘Ethics’ ?

(A) Moral principles that influence a
person’'s behaviour

(B) Concerned with the principles of

right and wrong behaviour

The way in which one acts or

conducts oneself, especially towards

others

All the above

©)

(D)

Two coins are tossed simultaneously. The
probability of getting exactly one head is
(A) 1 (B) O )

© Y ® Y

Three cubes of side 6 cm are joined end
to end. The surface area of the resulting
solid is

(A) 200 cm?
(C) 320 cm?

(B) 504 cm?

The turbans worn by the people of
Haryana is called as
(A) Peta

(C) Crown

(B) Khandwa
(D) Pagdi .

As in Bhagavad Geeta, the Second way t0
have union with God is ' '

(A) Karma
(C) Bhakti

(B) Kriya
(D) Jnana

Solutions of the equation
3x2 —26x-5=0 are
1
A By @) V5.5

‘50, 6., Y A A o ) e e ey

(D) None of.these. |

©) V5.~ O B3

4/
56. ﬁm%@ﬁﬁﬁﬁq_mg:r{(;) (M11)

(A) T ®) v
() fay (D) =efy
57. 'ﬁm%ﬁﬁﬁ?@v@m‘iﬁm’-
(A) e i S g o %?\
AP o S

(B) Wl 3N T By 3 e
sif & gl
(C) =1%o 5 4 v o 2 i oy

(D) e @At

58. QI Tl hl U W1 Iomen e 2 S o0
- I R TR T R ? o
(A) 1 (B) 0
© Y © ¥
X3,

T § | TROTeR 3 g e R A

(A) 200 ¥ .5, (B) 504 % .7 \g
©) 3203 - (D) FHISETS
60, BIETOM ¥ WA g TR S aelt Tet
e ¢ |
(A) T (B) &=
(C) 1A (D) T

61, ST 35 AT T % W A

(A) (8) B

() Wi (D) M
62.  wHiE 3x® ~2V5x-5=0 AE e
B

wEL @

. 5
©) \/&__\[57& (D) ‘/5’\/’/; )
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64.

66.

67.

68.

(A) Convex mirror

mit)
"o e fO”O
Whlc tion sySte

wing is not a asean|
m in the plants ?

rence to the Muslim League

e refé
\chl; “rj ?EIJH of 1940, find out the incorrggy
es

s i demanded & measure of autonom
) for the !\duslim.major,nty areas of the
indian Subcontinent.

it demanded partition of Indian
subcontinent and a separate Muslim
state, called Pakistan. 3

(€) Itwas ambiguous about partition of

India.
D) However, it eventually served the base

for creating Pakistan.

(B)

Pro bono, which we come across in law and

order debate and news, it refers to

(A) Legal service on free of cost

(8) On its own motion

(C) Feeling of having already lived
through

(D) Animpartial.adviser to a court of law'
in a particular case

The festival of Lord Rama conquering
Ravan is called as

(A) Pongal
(C) Baisakhi

(B) Bishu
(D) Dussehra

Bhagavad Geeta has dialogues between
Lord Krishna and :

(A) Karna
(C) Nakula

(B) Surya
(D) Arjuna

The type of mirror used as shaving
mirrors is

Concave mirror
(C) Cylindrical mirror
(D) Plano - convex mirror

-12-

64,

65. -

66.

67.

68.

- (C) et

; unummnmnu
et L. oy

(C) e Heqw B o Tl G :
(D) T oy At & ~aremer 1 Fes
TAGFR

mwmﬁwaﬁmmﬁmmﬂm
HEAT 2
(A) T

(8) Ty

(D) T

. ;
sfte Fraieny g -

(A) i | @

() T (0]

ot 5 e v
(A) I T

(B) e 34
(C) AT T4

' (D), FFEiae 340

Scanned by CamScanner



e planks with apPropriate ik
|l

Osit
cricket, | g ons

foﬁ;all and basketball,

( A Except
(B) Except for

§ Snioy Watcmng

(C) Beside
D) Besides

ghe lives in Perth. She owns g house
the Swan R|Ver

=3

(A) |
(B)
(C)
(D)

t
over
n

job)

o

et the appropriate synonyms of the
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4, The car salesman tried to bequiled an offer
of free gas for a year.

(A) strange

(B) wary

(C) belittle

(D) mislead

| 1. The Article exculpated the mayor.

(A) destroy
(B) steal
(C) acquit
(D) pity |
Choose the correct form of the verbs

R _ a long time for the bus.
(A) We always have to wait

(B) We must to wait

(C) We have to wait always

(D) Always we have to wait
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(A) was used to walch
(B) used to watch
(C) watched

(O) was watching

Bl the blanks with a

Necessary - PPropriate articleg i

75, Whols
team ?

(A) a
(B) the
(C) not needed
(D) an

best D‘ayer in your

76. |don't watch
often.

(A) an

B) a

(C) not needed
(D) the

Choose the correct options :

television very

77. | am not tired enough to go to bed yet.
| wouldn't sleep if | to bed now.

(A) went

(B) had gone

(C) would have gone
(D) gone

78. She reminded __——— the papers.

(A) me where | had to leavé
(B) where | had to leave
(C) where to leave

(D) me where will | leave
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